3 Unit Maths South Svdney High - Worksheet No: Page :

Due :

CHALLENGE EXERCISE 12

I
1

Write P(x) = x° + 2x* + x* — x* ~ 2x — | as a product of its factors.

A polynomial P(x) = (x ~ b)7 Q(x).
(a) Show that P(b) = P'() = 0.
(b) Hence find @ and b, if (x — 1)7is a factor of
Px) =x" +3x5 + axS + x* + 3x3 + bx? - x — L

Solvetan* 8 — tan’ 6 — 3tan? g + 3tan § = 0 for 0° < 6 = 360°.
(a) Find the equation of the tangent to the curve v = x3 at the point where

x = =1,
(b) Find the poﬁnt where this tangent cuts the curve again.

(a) Find the remainder when p(x) = 2x* — 7x3 + ax? + 3x — 9 is
divided by 2x — 1.

(b) If the remainder, when p(x) is divided by x + 2, is 17, find the value
of a.

If @, 8 and -y are roots of the cubic equation 2x3 + 8x2 — x + 6 = 0,
find

(a) By _

(b) & + B% + ¥?

Solve 4sin* 8 — 3sinf — 1 = 0for0° < 6 < 360°.
Find the value of @ if (x + 1)(x — 2)is a factor of 2x3 — x2 + gx — 2.

Prove that if x — ais a factor of polynomial P(x), then P(a) = 0.

ALLENGE
ERCISE 12
LPX) = (x~ Dix + DX + x + 1)
L(a) Pb) = (b - ) Qb)
=0
Pllx) = (x = b)" Q"(x)
+ Q) T(x ~ b)®
Pb)y = (b - b) Q'(b)
+ Q)7 ~ b)°

(bya = -8, b = 24
14 = 0°,45°, 60°, 120°, 180°, 225°, 240°,
300°,360° 4.(a)3x — y + 2 =0 (b) (2, 8)
5.(a) 2 ‘433, (b)a = 14 b(a) =3 (b) 17
7.8 = 90°,210°,330° 8.4 = -5
%.1f x — ais a factor of P(x)
Then P(x) = (x — a) Q(x)

~ Ha) = (a - a) Q(a)
0




